



No. S-1-1/2023-24/Stationery store

Jinnah Avenue, Malir Halt, Karachi dated: 23-02-2024

Subject: -

<u>UP-LOADING OF BID EVALUATION REPORT OF TENDER NO TS530990E ON THE WEBSITE</u>

Reference approval accorded by the Competent Tender Committee approved by the Plant Protection Advisor and Director General (PPA & DG) regarding the uploading of the Bid Evaluation Report pertaining to the tender for the FY 2023-24

2. It is requested that a copy of the bid evaluation report may be uploaded on the website of PPRA today under Rule-35 of PPRA Rules 2004. Purchase order will be awarded to the successful bidders in light of the evaluation report after uploading of the bid evaluation report and non-receipt of any objection.

Superintendent (Admn.)
Department of Plant Protection

Muhammad Waseem Siddiqui Superintendent Department of Plant Protection Government of Pakistan Karachi

EVALUATION REPORT OF MISC. STATIONERY ITEMS TENDER FY 2023-24

(As Per Rule 35 of PPRA Rules-2004)

1.	Name of Procuring Agency:	DEPARTMENT OF PLANT PROTECTION
2.	Method of Procurement:	SINGLE STAGE ONE ENVELOPE
3.	Title of Procurement:	MISC. STATIONERYITEMS
4.	Tender No.	S-1-1/2023-24/STATIONERY STORE
5.	PPRA Ref. No. (TSE):	TS530990E
6.	Date & Time of Bid Closing:	14-02-2024 AT 11:00 AM
7.	Date & Time of Bid Opening:	14-02-2024 AT 11:45 AM
8.	No of Bids Received:	03 (THREE)
9.	Criteria for Bid Evaluation:	AS PER RULE 35 OF PPRA-2004
10.	Details of Bid(s) Evaluation:	MENTIONED BELOW

Signature DR. WARREND OASTM Break (little) Department of Mant Protection

Government of Pakistan

NAME OF BIDDERS	EVALUAT	TED COST	RULE/REGULATION/ SBD*/POLICY BASIS FOR REJECTION /ACCEPTANCE AS PER RULE 35 OF PPRA RULES, 2004.
	COST OFFERED	COST ESTIMATED	
	BY THE BIDDERS	BY ITEM WISE	
	(RUPEES)		
M/S. Times Business Aids	Rs. 7,83,600/-	Rs.740,200/-	Qualified and Accepted. Being the lowest Evaluated
			Bidder in 03(Three) items.
M/S. TJ International	Rs. 462,3655/-	Rs.13,56,782/-	Qualified and Accepted. Being the lowest Evaluated Bidder in 68(Sixty eight) item.
M/S. Fatima Enterprises	Rs. 99,41,500/-	Rs.17,55,234/-	Qualified and Accepted. Being the lowest Evaluated Bidder in 34(Thirty Four) items.

Tender Evaluation Committee

Mr. Ahmed Sohail Store Keeper

Co-opt Member (Store)

Mr. Ageel Ahmed Senior Accountant (Accounts)

Member/Secretary

Mr. Nasir Ahmed

Deputy Director (Admn)

Member

Dr. Muhammad Qasim

Director (Admn)

Chairman





Government of Pakistan Ministry of National Food Security and Research Department of Plant Protection



No. S-1-1/2023-24 Stationery Store

Jinnah Avenue, Malir Halt Karachi, dated 33-02-2024

Subject: -

MINUTES OF THE BID OPENING MEETING BY PROCUREMENT COMMITTEE HELD ON MONDAY DATED: 14-02-2024 AT 11:45AM.

Meeting started with the name of Allah Almighty.

- The Chairman of the Procurement committee welcomed the members of the committee and opened the discussion on the agenda of Tender opening, evaluation and award regarding the Misc. Stationery items (TS530990E), held on Wednesday dated: 14-02-2024 at 11:45 am in the conference room of DPP, Karachi.
- The Tender was opened in the presence of the bidder's (Please refer to the signed attendance sheet) and were found in order as per the PPRA Rules-2004, Clause-28.
- Tender committee evaluate the bid documents to award the lowest cost bidders (Annexure-I). Committee has unanimously recommended the lowest evaluated costs of the particulars along with quality inspection.
- The meeting ended with a vote of thanks to the Chairman and exchange of courtesies with each other.

Tender Evaluation Committee

Mr. Ahmed Sohail

Store Keeper

Co-opt Member (Store)

Mr. Aqeel Ahmed

Senior Accountant (Accounts)

Member/Secretary

Mr. Nasir Ahmed

Deputy Director (Admn)

Dr. Muhammad Qasim

Director (Admn)



Government of Pakistan Ministry of National Food Security and Research Department of Plant Protection



Tender F-No. S-1-1/2023-24 Stationary Store PPRA Ref. No. TS530990E

DETAILED LIST OF TOTAL AWARDED ARTICLES TO FIRMS

S. No.	Name of Firms/Bidders	Number of Items (Awarded/Won)	Name of Items (Awarded)	Qty	Total Amount
01	M/S. Times Business Aids	04	Annexure -I	Annexure -I	Rs. 740,200 /=
02	M/S. TJ International	68	Annexure -I	Annexure -I	Rs. 13,56,780/=
03	M/S. Fatima Enterprises	34	Annexure -I	Annexure -I	Rs. 17,55,234/=

Grand Total=

Rs.38,52,214/-

Rupee: Thirty Eigth Lac Fifty two thousand two hundred fourteen only

Tender Evaluation Committee

Mr. Ahmed Sohail Store Keeper

Co-opted Member

Mr. Ageel Ahmed Sr. Accountant

Mamber/Secretary

Mr. Nasir Ahmed

Deputy Director (Admn)

Member

Dr. Muhammad Qasim

(Director Admn)

Chairman

S. No.	Particulars	Made / Company/ Specification	Qty	Unit Price	1070000000	me Business , Karachi	Intern	s. TJ iational, rachi	M/s. F Enterprise	'atima es, Karachi	Remarks
					Ĭ		2		3		
	Paper Ream A-			3	Rate with All Taxes	Total Amount Including All Taxes	Rate with All Taxes	Total Amount Including All Taxes	Rate with All Taxes	Total Amount Including All Taxes	
1	Paper Ream A- 4 sized (Officers)	Paper One/ Double A or Navigator or equivalent (80gms) 500 Sheets	100 Ream	Each Ream	1617/	161700/=	2199/=	219900/=	3040/= Paper One 2800/= Double A	304,000/=	Qualified M/S Times Business Aids Karachi
2	Paper Ream A- 4 sized (Gazetted or Non-Gazetted)	Supreme / I.K Brand (70 gms) 500 sheets or Equivalent	300 Ream	Each Ream	1177	353100	1549/=	464700/=	3000/= Supreme 4100/= I.K	900,000/= 615,000/=	Qualified M/S Times Business Aids Karachi
3	Paper Ream A- 4 sized (Outposts plus office staff)	PPC paper/ BLC/ Paperline (70 gms) 500 sheets or Equivalent	200 Ream	Each Ream	1127	225400	1549/=	309800/=	2340/= PPC 2380 BLC	468,000/= 476,000/=	Qualified M/S Times Business Aids Karachi

4	Paper Ream (Legal)sized	Copymate/ PPLite/IK/Supre me or Equivalent (80 gms) 500 sheets	20 Ream	Each Ream	2170	43400	1600/=	32000/=	5490/= Copymate 3880/= PP lite 4700/= I.K	109.800/= 77,000/= 470,000	Qualified M/S TJ Internationa I Karachi
5	Conqueror paper/Letterhea d managerial paper A-4 sized	Best quality 500 sheets/As per sample	l Ream	Each Ream	N/A	N/A	N/A	N/A	5000/=	5000/=	Qualified M/S Fatima Enterprises Karachi
6	Spectra Multicolor Paper /Court Paper Green Legal sized	Good quality 80 gms 500/100 sheets with (Green) color	10 Ream/ pad	Each Ream /Pad	N/A	N/A	1304/=	13,040/=	1300/=	13,000/=	Qualified M/S Fatima Enterprises Karachi
7	Ballpoints (Blue, Red, Black)	Signature BLU Needle tip (Blue, Red, Black) or Equivalent	400 pkts	Each Pkt	N/A	N/A	208/=	83200/=	260/=	104.000/=	Qualified M/S TJ Internationa I Karachi
8	Ball pen	Signature Orenji (Blue, Red, Black) or Equivalent	150 pkts	Each Pkt	N/A	N/A	211/=	31650/=	260/=	39,000/=	Qualified M/S TJ Internationa I Karachi
9	Ball point	Picasso oria [18pkts (Blue) and 2pkts (Black)]	20 pkts	Each pkt	N/A	N/A	272/=	5440/=	330/=	6600/=	Qualified M/S TJ Internationa

	100				Ĩ	Î					I Karachi
10	Ball pen	Picasso Shine 0.7mm	05 pkts	Each Pkt	N/A	N/A	376/=	1880/=	450/=	2250/=	Qualified M/S TJ Internationa I Karachi
11	Stick Gel Pen	Dux DX-1000 (0.7mm ultrasmooth) [05pkts (Blue)]	05 pkts	Each Pkt	N/A	N/A	880/=	4400/=	1900/=	9,500/	Qualified M/S TJ Internationa I Karachi
12	Pen	Mercury Gel Soft pen	05 pkts	Each Pkt	N/A	N/A	N/A	N/A	700/=	3500/=	Qualified M/S Fatima Enterprises Karachi
13	Pen	Jelfo Gel Piano	03 pkts	Each Pkt	N/A	N/A	288/=	864	600/=	1,800/=	Qualified M/S TJ Internationa I Karachi
14	Pen	Mercury Kristal Gelpen 0.7	03 pkts	Each Pkt	N/A	N/A	N/A	N/A	800/=	2400/=	Qualified M/S Fatima Enterprises Karachi

15	Pointer	Dollar/signature/ Mercury fineliner pointer plus 0.3mm (Blue)	05 pkts	Each Pkt	N/A	N/A	368/=	1840/=	660/=	3300/=	Qualified M/S TJ Internationa I Karachi
16	Uni Ball Pen (Blue and Black)	Uni Ball Signo 0.7mm UM-120 04pkts (Blue), 01pkts (Black)	05 pkts	Each Pkt	N/A	N/A	1120/=	5600/=	1632/=	8160/=	Qualified M/S TJ Internationa I Karachi
17	Uni Ball Pen (Blue)	Uni Ball BLUE- 150 Micro	05 pkts	Each Pkt	N/A	N/A	3200/=	16000/=	4680/=	23400/=	Qualified M/S TJ Internationa I Karachi
18	Uni Ball Pen (Blue)	Uni Ball fine eye UB-157 (Blue)	10 pkts	Each Pkt	N/A	N/A	3200/=	32000/=	4680/=	46800/=	Qualified M/S TJ Internationa I Karachi
19	Uni Ball Pen (Blue)	Uni Ball fine deluxe UB-177 (Blue)	10 pkts	Each Pkt	N/A	N/A	3200/=	32000/=	3840/=	38400/=	Qualified M/S TJ Internationa I Karachi
20	Uni Ball Pen (Blue)	Uni Ball vision elite (Blue)	05 pkts	Each Pkt	N/A	N/A	2720/=	13600/=	340/=	1700/=	Qualified M/S Fatima Enterprises Karachi

21	Ball pen Deli Think	Deli Think roller pen 0.7	03 pkts	Each Pkt	N/A	N/A	2240/=	6720/=	2280/=	6840/=	Qualified M/S TJ Internationa I Karach
22	Ball pen Deli Touch	Deli Touch Roller pen 0.5	03 pkts	Each Pkt	N/A	N/A	1370/=	4110/=	2400/=	7200/=	Qualified M/S TJ Internationa I Karach
23	Uniball	Jetstream 101	03 pkts	Each Pkt	N/A	N/A	N/A	N/A	1500/=	4500/=	Qualified M/S Fatima Enterprises Karachi
24	Uni Ball Pen (Blue)	Uni Ball Air Roller Ball point Mitsubishi	03 pkts	Each Pkt	N/A	N/A	N/A	N/A	2400/=	7200/=	Qualified M/S Fatima Enterprises Karachi
25	Ball point	Prismacolor Premier Fine Line Illustration Markers, 05 Fine Tip	03 pkts	Each pkt	N/A	N/A	N/A	N/A	5530/=	16590/=	Qualified M/S Fatima Enterprises Karachi
26	Pointer Gel pen (Blue and Black)	Dollar Gel-1 ultra-ink Document 0.7 [09pkts (Blue),01pkts (Black)]	10 pkts	Each Pkt	N/A	N/A	808/=	8080/=	1000/=	10,000/=	Qualified M/S TJ Internationa I Karachi

27	Erasable Ballpoint Pen	Any firm	01 pkts	Each pkt	N/A	N/A	N/A	N/A	3600/=	3600/=	Qualified M/S Fatima Enterprises Karachi
28	Hi-lighter (Pink, Orange, yellow and Green)	Piano Ink jet or Dollar Neon or Equivalent	25 Dozen	Doze n	N/A	N/A	1017/= Dozen	25425/=	106/= Each	31,800/=	Qualified M/S TJ Internationa I Karachi
29	Marker Permanent (Blue, Red, and Black)	Picasso (clothe writing purpose) or Equivalent	25 Dozen	Doze n	N/A	N/A	960/=	24000/=	1200/=	360,000/=	Qualified M/S TJ Internationa I Karachi
30	Pencil	Goldfish/Dollar/ Bahadur	55 Dozen	Doze n	N/A	N/A	304/= Each pkt	16720/=	308/= Each Pncl	203,280/=	Qualified M/S TJ Internationa I Karachi
31	Correction pen/ Whito	Any firm Good quality Pen type	25 Dozen	Doze n	N/A	N/A	806/= Dozen	20150/=	84/= Each	25,200/=	Qualified M/S TJ Internationa I Karachi
32	Calculator Digital Large sized	Citizen or Casio or Deli (Best quality) for Officers 14/12 digits DJ-140D Plus	36 Nos/ Machi nes	Each	N/A	N/A	7200/=	259200	5400/=	194,400/=	Qualified M/S Fatima Enterprises Karachi

33	Stapler Machine (Office use)	Deluxe C-14 or JIL(China,as per sample) or Equivalent (24/6- 26/6) 20 sheets	25 Nos/ Machi nes	Each	N/A	N/A	2320/=	58000/=	2500/=	62,500/=	Qualified M/S TJ Internationa I Karachi
34	Stapler Machine (Office use)	Maped E3543 or Equivalent (24/6- 26/6) 20 sheets	40 Nos/ Machi nes	Each	N/A	N/A	960/= (24/6)	38400/=	626/= (24/6) 7102/= (26/6)	250,640/= 248,080/=	Qualified M/S Fatima Enterprises Karachi
35	Stapler Machine (Office use)	Max/kangaroo or Equivalent (24/6- 26/6) 20 sheets	40 Nos/ Machi nes	Each	N/A	N/A	928/=	37120/=	800/=	32,000/=	Qualified M/S Fatima Enterprises Karachi
36	Stapler Effortless Plier type	Deli Expert 0358 or Eq.	15 Nos/ Machi nes	Each	N/A	N/A	2240/=	33600/=	5000/=	75,000/=	Qualified M/S TJ Internationa I Karachi
37	Staples Pin (large/Heavy duty)	Dollar/Kangaro or Equivalent (23/17)17mm	01 Dozen	Doze n	N/A	N/A	5568/= Dozen	5568/=	600/= Each	7200/=	Qualified M/S TJ Internationa I Karachi
38	Staples pin	Dollar (24/6) or Equivalent	25 Dozen	Doze n (Each large pkt of 12 pin pkts)	N/A	N/A	1132/=	28300/=	118/=	35400/=	Qualified M/S TJ Internationa I Karachi

39	Staples Pin remover	Kangaroo SR- 500 or Fuji or Equivalent	06 Dozen	Doze n	N/A	N/A	14800/=	89280/=	160/= Each China	11520/=	Qualified M/S Fatima Enterprises Karachi
40	Staples Pin remover Heavy duty	Best quality any firm	05 Nos.	Each	N/A	N/A	1680/=	8400/=	1220/= Deli	6100/=	Qualified M/S Fatima Enterprises Karachi
41	Punch machine Single Hole	Plie type /Good quality, As per sample	08 Dozen	Each	N/A	N/A	200/=	19,200/=	3000/= china	288,000/=	Qualified M/S TJ Internationa I Karachi
42	Punch machine Heavy duty Single hole	Kangaro or equivalent Best quality	06 Nos	Each	N/A	N/A	400/=	2400/=	2700/=	16,200/=	Qualified M/S TJ Internationa I Karachi
43	Punch machine double hole	Dolphin medium KW-trio 096X8 or Equivalent	03 Nos	Each	N/A	N/A	960/=	2880/=	1200/=	3600/=	Qualified M/S TJ Internationa I Karachi
44	Punch Machine Heavy duty double hole	Kangaro or equivalent Best quality	02 Nos	Each	N/A	N/A	6240/=	12480/=	21,000/=	42,000/=	Qualified M/S TJ Internationa I Karachi
45	Stainless Steel scale	Heavy gauge ISO 9002 Good quality	04 Dozen	Doze n	N/A	N/A	1248/= Dozen	4992/=	300/= Each	14,400/=	Qualified M/S TJ Internationa I Karachi

46	Glue sticks for Glue gun	Good quality with Red/Black in color	05 Dozen /Packe t	Doze n/ Packe t	N/A	N/A	960/=	4800/=	220/=	13,200/=	Qualified M/S TJ Internationa I Karachi
47	Scissors (Medium sized)	Deli No.6027 or Eq. Stainless steel (Good quality)21 inch	08 Dozen	Doze n	N/A	N/A	11904/=	95232/=	1700/= Each	163,200/=	Qualified M/S TJ Internationa I Karachi
48	Stamp pad	Lancer large sized (Blue) or Equivalent	02 Dozen	Doze n	N/A	N/A	1248/=	2496/= Dozen	190/= Each	4,560/=	Qualified M/S TJ Internationa I Karachi
49	Stamp pad	Horse D-4236 or Equivalent Medium sized (Blue=5doz, Black=2doz)	07 Dozen	Doze n	N/A	N/A	4224/=	29568/=	1360/=	114,240/=	Qualified M/S TJ Internationa I Karachi
50	Stamp pad ink (Blue, Black)	Lancer (9 doz Blue and 1 doz black) or any equivalent	10 Dozen	Doze n	N/A	N/A	730/=	7300/=	84/=	10,080/=	Qualified M/S TJ Internationa I Karachi
51	Eraser	Dux or Equivalent	20 Dozen	Doze n	N/A	N/A	192/=	3840/=	18/=	4,320/=	Qualified M/S TJ Internationa I Karachi
52	Sharpener	Dux / Bahadur or equivalent	20 Dozen	Doze n	N/A	N/A	211/=	4220/=	20/=	4,802/=	Qualified M/S TJ Internationa I Karachi

53	Paper clip (Multicolour)	Polo or any firm best Weis type	20 Dozen	Each single packe t	N/A	N/A	1344/=	26,880/=	80/=	119,200/=	Qualified M/S Fatima Enterprises Karachi
54	Bulldog clip	Good quality	01 Dozen	Doze n	N/A	N/A	2304/=	2304/=	3460/=	41,520/=	Qualified M/S TJ Internationa I Karachi
55	Magnetic paper clip holder (Black colour)	Good quality or as per sample	10 Nos	Each	N/A	N/A	6272/=	62720/=	800/=	8000/=	Qualified M/S Fatima Enterprises Karachi
56	Thumb pins/Notice board pins	any firm	05 Nos	Each single packe t	N/A	N/A	104/=	520/=	120/=	600/=	Qualified M/S TJ Internationa I Karachi
57	Paper Pins	any firm	100 Nos	Each single packe t	N/A	N/A	104/=	10,400/=	900/=	90,000/=	Qualified M/S TJ Internationa I Karachi
58	Paper cutter Knife blade	INGCO (Black color with heavy guage) or eq.	05 Dozen	Doze n	N/A	N/A	2880/= Each	14400/=	5000/= INGCO 300/= China Each	300,000/=	Qualified M/S TJ Internationa I Karachi
59	Sticky Notes	Small with assorted colours flags	36 Nos	Each	N/A	N/A	60/=	2160/=	90/=	3240/=	Qualified M/S TJ Internationa I Karachi

60	Register 200pages (Ruled)	Official Exclusive register, Fine white quality paper Large scale (As per sample, Fine quality)	100 Nos	Each	N/A	N/A	460/= Each	46,000/=	460/= Each	46,000/=	Qualified M/S TJ Internationa l Karachi
61	Register 300pages (Ruled)	Official Exclusive register, Fine white quality paper Large scale (As per sample,Fine quality)	100 Nos	Each	N/A	N/A	624/=	62400/=	620/=	62,000/=	Qualified M/S Fatima Enterprises Karachi
62	Register 400pages (Ruled)	Official Exclusive register, Fine white quality paper Large scale (As per sample, Fine quality)	50 Nos	Each	N/A	N/A	768/=	38400/=	800/=	40,000/=	Qualified M/S TJ Internationa I Karachi
63	Register 500pages (Ruled)	Official Exclusive register, Good quality page Large scale (As per sample,Fine quality)	20 Nos	Each	N/A	N/A	944/=	18,880/=	1020/=	20,400/=	Qualified M/S TJ Internationa I Karachi

64	Carbon paper (Blue and Black)	Axent /Ruby or equivalent(Blue= 05pkts, Black=25pkts)	40 Pkts	Each pkt	N/A	N/A	960/=	38400/=	720/=	28,800/=	Qualified M/S Fatima Enterprises Karachi
65	Gum stick/Glue stick(large)	Dollar 20gm or Equivalent	25 Dozen	Doze n	N/A	N/A	2419/= dozen	60475/=	258/= Each	77,400/=	Qualified M/S TJ Internationa I Karachi
66	Glue for Clothe binding	Tip top Best quality glue or Equivalent	02 Dozen	Doze n	N/A	N/A	2668/=	5336/=	15,464/=	371,136/=	Qualified M/S TJ Internationa I Karachi
67	Packing cloth (For Parcels)	Markin Cloth (Best quality) Per meter Any firm	200 Mtr	Each Meter	N/A	N/A	N/A	N/A	440/=	88,000/=	Qualified M/S Fatima Enterprises Karachi
68	Paper weight	Marble type for officers	05 Dozen	Each	N/A	N/A	672/=	3360/=	60/=	3600/=	Qualified M/S Fatima Enterprises Karachi
69	Dust bin(large)	Home fresh HF0031 12 Litre Best quality any firm	02 Dozen	Each	N/A	N/A	12,480/=	299,520/=	10,200/=	244,800/=	Qualified M/S Fatima Enterprises Karachi
70	Dust bin(large)	Normal 10-12 Litre with Cover lid opened with foot	02 Dozen	Each	N/A	N/A	7840/= Each	188,160/=	3400/= Each	81,600/=	Qualified M/S Fatima Enterprises Karachi

71	Polythene bags for Dust bins cover	Any firm available in market(Large size 12-15 Litre)	5 Kg	Each/ Per KG	N/A	N/A	696/=	3480/=	1100/=	5,500/=	Qualified M/S TJ Internationa I Karachi
72	File flapper	Rexene type or Nylon or Eq. (As per sample)	100 Dozen	Doze n/Eac h	N/A	N/A	345/= Dozen	34,500/=	60/= Each	72,000/=	Qualified M/S TJ Internationa I Karachi
73	File Board (attached flapper)	Best quality as per sample	50 Dozen	Doze n/Eac h	N/A	N/A	576/= Dozen	28,800/=	60/= Each	36,000/=	Qualified M/S TJ Internationa I Karachi
74	Masking Tape/Paper tape	White color Deer or Equivalent i)- 2" inch and ii)- 3.5"inch	01 Dozen	Doze n	N/A	N/A	176/= 2 inch 264/= 3.0 inch	2112/=	168/= 2 inch 294/= 3.5 inch	2016/= 3528/=	Qualified M/S Fatima Enterprises Karachi
75	Scotch Tape transparent	Deer brand or Equivalent i)- 2" inch and ii)- 3.5"inch	06 Dozen	Doze n	N/A	N/A	4032/ = 6048/ =	24192/= 36288/=	420/= 630/=	30,240/= 45,360/=	Qualified M/S TJ Internationa I Karachi
76	Double sided tape transparent	Any firm	01 Dozen	Doze n	N/A	N/A	768/= Dozen	768/=	72 Each	840/=	Qualified M/S TJ Internationa I Karachi
77	Electric wiring tape	Osaka/Toshiba or Equivalent(White- 01 Doz , Black-01 Doz and Red-01 Doz)	02 Dozen	Doze n	N/A	N/A	730/=	1460/=	140/= Osaka 130/= Toshiba	5040/=	Qualified M/S TJ Internationa I Karachi

78	Scotch Tape dispenser 2"and 3.5"inch office purpose	2"and 3.5"inch office purpose any firm (KW- trio)	10 Nos	Each	N/A	N/A	1200/= 2 inch 1440/= 3.5 inch	12000/=	1300/= "2" 1700/= "3.5"	13000/= 17000/=	Qualified M/S TJ Internationa I Karachi
79	Click catalog envelop with string A-4 sized	Khaki color with best quality paper	03 Dozen	Each	N/A	N/A	192/= Each	576/=	1600/= Each	57,600/=	Qualified M/S TJ Internationa I Karachi
80	Dak folder (Black, Brown and Green color) Envelope style	Alflah meer & Co. 1137s Four /two flapper with gold color lock magnetic holder or equivalent	02 Dozen	Each	N/A	N/A	1200/=	28800/=	9000/=	216,000/=	Qualified M/S TJ Internationa I Karachi
81	File rack / Tray letters 3 tier slide out	Best quality/As per sample	06 Nos	Each	N/A	N/A	2080/= 1520/=	12480/= 9120/=	2300/=	13,800/=	Qualified M/S TJ Internationa I Karachi
82	File rack / Tray letters 2 tier slide out	Best quality/As per sample	06 Nos	Each	N/A	N/A	1760/= 1200/=	10560/= 7200/=	2000/=	12000/=	Qualified M/S Fatima Enterprises Karachi
83	Wall mounted Tray/File rack holder 3 tier or 4 tier	Best quality/As per sample	06 Nos	Each	N/A	N/A	2320/=	13920/=	2900/=	17400/=	Qualified M/S TJ Internationa I Karachi

84	Name plate holder table for officials	As per sample	02 Dozen	Each	N/A	N/A	3000/=	72000/=	1900/=	45600/=	Qualified M/S Fatima Enterprises Karachi
85	Extension Board 8-way Universal Power distribution unit Black copper	As per sample	05 Nos	Each	N/A	N/A	6080/=	30,400/=	9400/=	47,000/=	Qualified M/S TJ Internationa l Karachi
86	Section Diary Register	As per sample	50 Nos	Each	N/A	N/A	5000/=	250,000/=	1900/=	95,000/=	Qualified M/S Fatima Enterprises Karachi
87	Iron stand Separator to Books	Any firm best quality	01 Dozen	Each	N/A	N/A	480/=	5760/=	13000/=	156,000/=	Qualified M/S TJ Internationa I Karachi
88	Table Flag (Pakistan) with small marble Base	Any firm best quality	01 Dozen	Each	N/A	N/A	880/=	10560/=	1300/=	15600/=	Qualified M/S TJ Internationa I Karachi
89	Electric Carton packing/strappi ng machine kit set plus sealing machine and straps (Whole set)	E-sealer As per sample	02 Nos	Each	N/A	N/A	N/A	N/A	21,000/=	42,000/=	Qualified M/S Fatima Enterprises Karachi

90	Table pen holder	Any firm best quality	25 Nos	Each	N/A	N/A	216/=	5400/=	3000/=	75,000/=	Qualified M/S TJ Internationa I Karachi
91	Desk organizer Metal mesh pen holder	As per sample	20 Nos	Each	N/A	N/A	2640/=	52800/=	280/=	5600/=	Qualified M/S Fatima Enterprises Karachi
92	Luxury Table organizer set Executive(Tabl e set for Officers)	Leather Kaligon Equivalent Best Quality	05 Nos	Each	N/A	N/A	12000/=	60,000/=	6000/=	30,000/=	Qualified M/S Fatima Enterprises Karachi
93	Electric Kettle	Dawlance DWEK-8212 or equivalent, 1.7 L kettle capacity, Automatic switch off, Boil dry & overheating protection, Power switch indicator light, Water level indicator, Button control lid cap,Heating element with S/S cover, SS & metallic red	03 Nos	Each	N/A	N/A	15520/=	46560/=	31000/=	93000/=	Qualified M/S TJ Internationa I Karachi

		finish (Dawlance or equivalent, Genuine)(As per sample pictured)									
94	Mouse Wireless	Ergonomic, Power Efficient, Optical 2.4Ghz Reliable/Resoluti on 1000DPI, Max. A cc. 20G, Max. Tracki ng speed 30inch/s, Mouse Life cycle: 10Million key- press, Buttons:03, Power battery: AA alkaline, Nano USB receiver (A4tech or Logitech or Equivalent)	01 Dozen	Each	N/A	N/A	4000/=	48000/=	15,000/= (4.k Tech) 17,000/= (Logi tech)	180,000/= 204,000/=	Qualified M/S TJ Internationa 1 Karachi

95	Mouse wired	Ergonomic, Power Efficient, Optical 2.4Ghz Reliable/Resolution 1000DPI, Max. Acc.20G, Max. Tracking speed 30inch/s, Buttons: 04, USB Port Cable receiver (A4tech or Logitech or Equivalent)	Dozen	Each	N/A	N/A	2000/=	24,000/=	9,000/= (A4 Tech) 11,000/= (Logitech)	132,000/=	Qualified M/S TJ Internationa I Karachi
96	Mouse Pad	As per sample Logitech	01 Dozen	Each	N/A	N/A	N/A	N/A	700/=	8400/=	Qualified M/S Fatima Enterprises Karachi
97	Keyboard Wireless	(Logitech or 4Tech or Any Eq.) Connection Type: non- unifying protocol (2.4GHz) with Nano,Wireless Range: 10 meters / 33 feet USB receiver,Wireless encryption: 128- bit Advanced	05 Nos	Each	N/A	N/A	6880/=	34400/=	21000/-	105,000/-	Qualified M/S TJ Internationa I Karachi

		Encryption Standard (AES) between devices and receiver									
98	Keyboard	Normal available in the market Best quality (4tech or Logitech or Eq.)	01 Dozen	Each	N/A	N/A	5600/=	67200/=	1700/=	20,400/=	Qualified M/S Fatima Enterprises Karachi
99	Thread Balls	Any firm colorful	02 Dozen	Each	N/A	N/A	88/=	2112/=	2000/=	48,000/=	Qualified M/S TJ Internationa I Karachi
100	Electric wire 7/29 full gauge	Pure copper Supreme Millenium	02 Nos	Each	N/A	N/A	14240/=	28480/=	10400/=	20,800/=	Qualified M/S Fatima Enterprises Karachi
101	Electric Door Bell(Wireless)	Haizoom or any eq. Best quality	01 Dozen	Each	N/A	N/A	4128/=	49536/=	4600/=	55,200/=	Qualified M/S TJ Internationa I Karachi

102	Revolving leather hole punch machine	As per sample pictured	03 Nos	Each	N/A	N/A	N/A	N/A	10,400/=	31,200/=	Qualified M/S Fatima Enterprises Karachi
103	Shrink wrape for covering Packing Plastic Sheet Roll	Any firm	03 Wrape Packet	Packe t	N/A	N/A	N/A	N/A	820/=	2460/=	Qualified M/S Fatima Enterprises Karachi
104	USB connector Printer portable cable	Any Firm	05 Nos	Each	N/A	N/A	1280/=	6400/=	3200/=	16,000/=	Qualified M/S TJ Internationa I Karachi
105	USB Hub port	As per sample picture	05 Nos	Each	N/A	N/A	4000/=	20,000/=	13,000/=	65,000/=	Qualified M/S TJ Internationa I Karachi